Seat No. :

AG-108

April-2016
B.Com., Sem. - VI

Core Elective-304A : Adv. Acc. & Auditing
(Auditing — 1)

Time : 3 Hours] [Max. Marks : 70
dadl: (1) wuell eyl vis wedHL oL sald .
(2) €38 UsHdl HEIUR wAlel Il

1. (A) AR FRoiedlAl 232 2100 2322l 530 22l 7
YAl
QoA 333 2 el [3[asws a2l dslad ameudl.
(B) 2i[3e2-l glexl dla-l edidof, Het AHAdl (I d o) 4

(i) HHIR=H 205 2RgAKHAAA

(i) 2lesen 25 vAHAAA

(i) [astu-ust

(iv) ALY

(C) A >0l 22 dly dxRl A[GWA Ul (O1H d A8 3

(i)  Sudl SBadl 2R u 3% o elidul caldl ualL Hidl .

(i) Sudl 12 yoordl 34l ud saL uisl €
2,000 R4MeA US4 AR &5 T 100 il Arels T80 2l *i1dA €.

(iii) Su-ll 22l viid Asl-gsaU viid @S al Hiol €.

(iv) 5u-ll 1,00,000 S[3adl 212 €35 T 10 -l 6l ULdld Ass Hoadl HidL €.

(v)  Su-dl @l urd saL "I el uidd 9adl A2 ux sdu 208 Huel 4%
UL Ysadl Hidl €9.

2. (A) 32 AdUdHl QURAAL AL 2 el doe-tl wd wueadl, L 2iRze

wald-l daell ol 7
22
AHUDS 32 U g5l Quil.
(B) Al dslad AUl (M d 2is) 4

(i) B2 Adnd 2 w2 wHLIYA
(i) Alvuil veald s viHlal séaid
(C) 2s-liv avil (O1M d 218) : 3
(i) 2URe-l veadd Hew
(i) el vidlall saladl Su-dll »i3e viéaid dur s
(i) 232 weaa-dl [doidl

AG-108 1 P.T.O.



3. (A) Al wuledl udl du-ldl 2015-16 M2 aduslluist sl Asél s
(5% Amml )

2013-14 | 2014-15 | 2015-16
gA1R1AL o1l udaldl Asl/4suln ~ 400 |- 6.00 |+80.00
gARLAL oLl - 6.00 |- 6.00 |-20.00

-10.00 | -12.00 | +60.00
A1, M-l gaRLAL usdl Ao ~14.00 | -14.00 -

—-24.00 | -26.00 | +60.00

24
QdaRfluim sl »ed g ? adasllu sl awid?l vl Mwleds [Rgidl

AHAAL
(B) &sld a@vil (O1M d &) :
(i)  aduelum 45l U AR s2dl uRewl
(i) Hdl A5l A [R[ag=s
(i) aououd (3ags

(C) Al UsAlAl waol Ul (A1 d =A8L) ;

(i) [l oz sul ugdl deal amuul Rlas~s dize AeAld ule s3] sal ul
5 [Rlagws ysdl eq ud?

(i) Su-ldl g adAl sl T 10,00,000 9. su-dl SBall AR u 8% el
[3as-s ysaal Midl 9 dl Su-dl Q10 Yool A 2UMd vid Sedl 263
A odl ud ?

(i) Su-ll -luel ueali asiidl Rass #d2 3 A% 2w Hie ?

(iv) Su-ll wieodl vile Hidl ael ueal [3lasws oz s31 ad 2 aL M ?

(v) el sl ved 9 ?

4. (A) Su-dl-i dael v sl sl Hlsdl A qael o9

ay daw (%) s sl (3) s sl 82 (%)
2013-14  8,00,000 80,000 10
2014-15  10,00,000 90,000 9
2015-16 12,00,000 96,000 8
Al s1AL 5L 3512 v-duel 34l Fd s ?
4l

A2 YMlel 222 glRl Adldldl slBued-l 232 slsH duR s

(B) &5t avil (A1H d is)
(i) R2 sdsHd M8
(i) 2R2 stdsH vsdr sl Quid QAU AvidlAL g1

(C) &s-lit avil (A d is)
(i)  i-dusil &gl
(i) 2Ausl AU
AG-108 2



5. otglasall usAiql aal ool wdld quil (IH d Aud)

(i)

(i)

(iii)

(iv)

(v)

AG-108

e 22ls Su-dld 32 A3 sl uSdl 2l dalnl HgL 2idl - U5l syl
Yel Yaiold el ?

(A)  Sudll W34 2 2uEseaell HlEdouz ad.

(B) Surll-l 22uG8-1 tif32z d-ll oL sl

(C) Su-li idRs vigu-dl ugla-dl Aledl dadl aAdl.

(D) Su-l-i qwasl gl wdidl [Hgis 4oy fld 4S9 ddl vidl sl
A

Alisle ad y3 adr ugl sedl aHyHl Sudl-l alls (Sael alls ey
AMIML % 5L U3 ?

(A) 2ARL HIA™L

(B) £9 HIAHL

(C) URUIIAL -uslisld Al »id ueal a1 R
(D) Guumil 2isugl Al

Surdldl 2322 widirdl xead AL U5l suL uasid Gelld aviall ¢ld 9 ?
(A) Su-lli 2lrelesA

(B) MU U512

(C) s s [Rys2dq

(D) Su-l-l AseslAd

w5 Su-l-l g4 orwS 2dd SEBAdl 2yl T 25 Alvt 9. Ag Al dARL A
5321 Udll A5l T7 A 9. o AR R[Ass-tl £2 18% Sl dl 91l i)
sedl M A vld A gl ul ?

(A) % 4,50,000
(B) % 2,50,000
(C) 52,500
(D) 70,000

N\

“opul el 251 el d ol 2-dmer” i AL WS 5O slotd Ml dal-l
Sidl el ?

(A) 2A53 GAMAAl dwan sl

(B) sul usl-i sou-l gist ¢9.

(C) Su-ldi R2se-l aleusidl

(D) 2l Hed Hie vi-dupl s2dld €9 ? d A8l 52,

14

3 P.T.O.



(vi) deielR 5 dld 4yR s2dl ols adl dul sl A4 WSl sul el yridtd el ?

(A)
(B)
(©)
(D)

All Sd-l du

YAl 2R AR dw

MAslaMl MR AAA Al 219 2101 [doidl

Gedlrl Az Susdldi 22ls v 21 [Hesdig [QodaR yedisd s

(vii) 2132 sidsm dwR sdl udal A WSl 59 oot Hoadl 37 49l ?

(A)
(B)
©)
(D)

idlRs iga-l ugla

deiel ¥ Bl 2sRsa [Qoaidl
SlR5l g2l u-tiauda [Baell ugla
UG U322l vidad

(viii) Su-li 2322 Uldidl ASdld sUL Sl 4ol ddlR sl A5 ?

(A)
(B)
(©)
(D)

19491 @l -3 L8l 2AoLald
1932 *llel?l sluel

1956411 su-il eni-{l ostorans
20001l A5l S1uel

(ix) BMasd dueidl 45l 3dl d 2dloeuy 9 2

(A)
(B)
©)
(D)

AG-108

CRRE]
Heydl sl
S0 sl
N )



Seat No. :
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April-2016
B.Com., Sem. - VI

Core Elective-304A : Adv. Acc. & Auditing
(Auditing — 1)

Time : 3 Hours] [Max. Marks : 70
Instructions : (1) Right side digits indicate marks of the question.

(2) Write answers to the point.

1.  (A) Discuss the duties of an Auditor in respect of Share Transfer Audit. 7
OR
Distinguish between Interim Dividend and Final Dividend.

(B) Explain the importance of the following documents to an Auditor (any two) : 4
(i) Memorandum of Association.
(it) Articles of Association.
(iii) Prospectus.
(iv) Minutes Book

(C) Give your opinion as an Auditor on the following (any three) : 3
(i) A company wants to give 3% underwriting brokerage on equity shares.
(i) A company wants to return capital as under :
2,000 Redeemable Preference Shares of ¥ 100 each, ¥ 80 per share paid up.
(iii) A company wants to transfer share forfeited a/c to Profit and Loss a/c.

(iv) A company wants to receive in cash by issuing 1,00,000 equity shares of
T 10 each.

(v) A company wants to pay 4% interest as per section 208 on equity shares
which were issued for repayment of loan.

2. (A) Explain the meaning of the words “True and Fair” used in Audit Report and state
the characteristics of a good Audit Report. 7

OR
Write short note on Social Audit.
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(B) Distinguish between following (any one) : 4
(i)  Auditor’s Report and Auditor’s Certificate.
(if) Clean Report and Qualified Report.

(C) Write short notes (any one) : 3
(i) Importance of Auditor’s Report.
(if) Prepare Audit Report of a Company mentioning three defects.
(iii) Contents of Audit Report.

3. (A) From the following information of a company determine its divisible profit of the

year 2015-16. 7
(X in lakh)
2013-14 | 2014-15 | 2015-16
Profit or Loss before Provision for| — 4.00 |- 6.00 | +80.00
depreciation
Provision for depreciation - 6.00 |- 6.00 | -20.00

-10.00 | -12.00 | +60.00
Provision for Unabsorbed depreciation for | —14.00 | —14.00 -

current year
—24.00 | —26.00 | +60.00
OR
What is Divisible Profit ? Explain the guiding principles for calculating divisible
profit.
(B) Write short notes (any two) : 4

(i) Factors affecting divisible profit.
(i) Capital Profit and dividend.
(iii) Interim dividend.

(C) Answer the following (any three) : 3

(i) After the dividend is declared within how much time dividend warrants
should be post to members or dividend should be paid ?

(i) A company’s current year Profit is ¥ 10,00,000. Company decides to declare
dividend on shares at the rate of 8%. Calculate the amount required to be
transferred to General Reserve as per Company Act.

(iii) Can a company declare dividend out of profits to the incorporation ? Why ?
(iv) Canacompany declare dividend before writing-off past losses ? Why ?
(v) What is Trading Profit ?
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4. (A

(B)

(©)

Information of Sales and Gross Profit of a company is as under :
Year Sales k)  Gross Profit ) Rate on Gross Profit %

2013-14 8,00,000 80,000 10
2014-15  10,00,000 90,000 9
2015-16  12,00,000 96,000 8
How will you investigate fluctuation in gross profit ?

OR

Prepare Audit Programme of a Hospital run by Public Charitable Trust.

Write short notes : (any one)
(i) Importance of an Audit Programme.

(if)  Points to be taken in consideration while preparing an Audit Programme.

Write short notes : (any one)
(i) Objects of investigation
(if) Investigator’s Report.

5. Write correct answer for multiple choice questions (any seven) :
Which of the following points is not correct, while taking into account certain

(i)

(i)

(iii)

AG-108

points before starting an audit of Joint Stock company ?

(A) To get information about the Memorandum and Acrticles of the company.

(B) To inform about its to previous auditor.

(C) To get information about the internal control method of the company.

14

(D) To satisfy himself that his appointment is properly made by Board of

Directors.

After the end of Financial Year, within how much time Final Accounts of a

company should be presented in Annual General Meeting ?
(A) Three months

(B) Six months

(C) Atany time before the end of next Financial Year
(D) None of the above

To which of the following parties is the company auditor expected to address his

report ?

(A) Shareholder of the company.
(B) Central Government.

(C) Board of Directors.

(D) Company Secretary.
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(iv)

(v)

(vi)

Total paid up equity share capital of a company is ¥ 25 lacs, current year’s Profit
after depreciation and tax is ¥ 7 lacs. What will be the minimum amount to be
transferred to reserve, if the recommended rate of Dividend is 18% ?

(A) ¥4,50,000

(B) ¥2,50,000

(C) ¥52,500

(D) ¥ 70,000

Which one of the following is not required to be considered for “Investigation in
case of suspected fraud” ?

(A) Embezzlement of cash to be examined.

(B) The nature of Fraud suspected.

(C) Disqualification of Directors of the company.

(D) The period of investigation to be covered.

Which one of the following points is not relevant while conducting an

investigation on behalf of a creditor or a bank granting loan ?

(A) Examine the purpose of loan.

(B) Examine the securities offered.

(C) Get details regarding loan application rejected in the past.

(D) Carry out, in detail, the valuation of stock and other assets of the prospective
borrower.

(vii) Which one of the following details is not required to be obtained before preparing

an audit programme ?

(A) System of Internal Check.

(B) Technical details of business or institution.

(C) Accounting system adopted by the competitors.
(D) Report of the previous auditor.

(viii) Which of the following Act is followed by company auditor while preparing his

(ix)
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report ?

(A) 1949 Law and Order Rules
(B) 1932 Partnership Act

(C) 1956 Company Act

(D) 2000 Income Tax Act

The Profit on sale of Assets is known as
(A) Capital Profit

(B) Revenue Profit

(C) Gross Profit

(D) Net Profit



